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1. logya =5log,B =30, &, LLFTOXEXDEZ KD I,
@ logy(ap)

log,(a x B) =log,a+1log, f =5+3=8
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log,(a® + B?)
= log, a® — log, B2
=3log,a —2log, f =3X5—-2%Xx3=15-6=9
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@ cos15° — cos 75°
cos 15° — cos 75° = cos(45° — 30%) — cos(45° + 30°)

= cos 45° cos(—30?) — sin 45 sin(—30°) — {cos 45° cos 30° — sin 45° sin 30°}
= c0s 45° cos 30° + sin 45° sin 30° — (cos 45° cos 30° — sin 45° sin 30°)
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@ cos45°sin 75°
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c0s45°sin 75° = E{sin(45° + 759) — sin(45° — 75°)} = E{sin 120° — sin(—30°)}

212 \ 2 4

_1{£_< 1)}_“@
3. UToOiEAEEZBI 2z,

- IX1+(-1)x2 1X2+4(=1)x0\ /-
@ (é —;)(; §)=(3§11E_2§iz 3i21£—2%§0)=(—1 2)

@ (29 :5<§ i>=Gx1+0x2+GDxﬂﬂ)2X2+0XLH—DX%=(34)

1 o I1xX14+40x24+(-2)x(—-1) 1x24+0x1+(-2)%x0 3 2

4. FIFRIT 1% THD LT 5, 5ERITMIAZE 2 2% E 500 FAOEENH Y . ZZ2mEE 100 HH
o5 ENIGITCTHEAT S L&, BASEHDOEHZRD X,

1000000 = 1.01% + 1000000 = 1.01* + 1000000 + 1.01% + 1000000 + 1.01% + 1000000 + 1.01

1(1 - 1.015)
1000000 x LHLOLF L0 +101° +101%) o —T— 101
1.01° 1.015
5.101005
= 1000000 X —— == 1000000 x 4853431 = 4853431
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